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(d) transmission mechanism

.(e) High Powered Money
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Instructions for Candidates
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1.
of this question paper.

2. There are eight questions in the question paper.
Answer any . five questions.

3. All questions carry edual (15) marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper. :
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(a) Given the following information (in crore rupees):

"

GNP i = 1000
Government Purchases (G) ‘ e ISQ
Transfer Payment (TR) = 100
Investment (I) % 200
CA Balance : = —-80
Tax (T) = 300
Interest Payment -onl government debt = - 80
Net Factor payments from abroad = = -20
Corﬁpute g
. (i) GDP

(i) Net Export
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€ =40+ 0.8 Yd
} =80

G =100

TR = 60

t=0.2
(i) @ 3 avE B T TR A A
(i) =ore @y @ TFT SR

(i) of MPC Wear 8 & a9 W el /uedl
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8. Write short notes on any three :

| (a) Income Method of National Income measurement.

(b) Liquidity Trap

(c) Balance Budget Multiplier

P10,
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fiscal and monetary policy will become less -

effective”, Do yo'li agree?

fb) Suppose an economy is defined by foliowing

functions

 C=140 + 0.8 Yd
I=280

_ G =100 -

(i) Calculate equilibrium level of income and

consumption.

(ii) Calculate:-Budget Surplus. -

(iii) If MPC falls whether Budget Surplus rise/

fall. - (9,6)
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(iii) Consumption
(iv) Private Savings
(v) Government Saving

(b) What is GDP deflator? How is it different from
consumer price indei?_pr does CPI inflation

overstate the increases in cost of living? (8,7)
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- 2. (a) What is the demand for central bank monéy? How
is equilibrium determined. in the market for central
bank money? How does the equilibrium rate of
‘interest change if the supply c¢ central bank money

increases?
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(a) If the capital stock of a nation rises, what will be
its effect on output, employment, and the real
wage? Explain in the context of classical model

using diagrams.

(b) In the classical model, there is a positive
relationship between real wages and output.

Comment. : ; (8,7)
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(a) ‘In the IS-LM model if demand for investment

less responsive to changes in interest rate, both

r.1.0.
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(b) Use the following information (in rupees) : (b) The following financial market-data is given for

* ' : an economy (in rupees):
Income (Y) = 1,00,000 ;

Nominal Money Supply (M) = 80,000 ; Currency = 1000; Reserves = 200; Depos:ts = 2000.
Price Level (P) -_ = 20 - (1) Calculate size of money multiplier
Calculate the money growth rate required to o (ii) Monetary Base

finince 'the budget deficit of Rs. 10,000 in an

(i) M 1 9.6
e (iii) Money Supply 9.,6)

(%) Mt NPT SRR D

(c) Discuss the relationship between a bond price and .

rate of interest. | (6;,5,4) - ’ - g R ¥ W Lo ﬁ“ﬂ?ﬂ e # 7 *ﬂ“
' : 7O ¥ B W N A T W AW NG R DY
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| ,
| | oy foar a2
Ia (Y) = 1,00,000 |
- : = 1000; R = 200; ™1 = 20001
AW E R aws (M) = 80,000 il R
= w1 (P) = 20
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3 : (a) Assume that the demand for real money balances

is: M/P = Y[0.4-(r+ne)]. Income (Y) = 2000, Real
Interest Rate (r) = 4%, Expected Inflation Rate

(m°) is constant = 6%. (i) Calculate seigniorage if.

the rate of growth of nominal money is 15%. (ii)
Calculate the inflation tax when actual inflation

equals 6%. Is it equal to seignorage?

(b) Explain how the demand for and supply of central
bank money determines the equilibrium interest
rate in an economy with currency and checkable

deposits?

(%) #m & & arels o7 qw T S A MP = Y[0.4-
(rtn°)] ®: 3@ (Y) = 2000, aFafds® = & ()
= 4%, PR yafi| ERRl R/ (10) = 6% )
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4. (a) In the Classical Model, an autonomous decline in
investment leads to a fall in the overa, demand in
the economy. Explain, with the help of a diagram,

- whether you agree or disagree.

: (b) What do ydu understand by crowding out? Explain
using a suitable diagram. 114(7.6,5.75)
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5. (a) Differentiate between “Orthodox” and “Heterodox”

- stabilization programs adopted during hyperinflation.
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